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This assignment is graded out of q marks. No books, notes or cell phones are allowed. You must show all your work, the correct
answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. Find the equatlon of the plane passing throught the points: P;(1,2,3), B(-2,0,-1), £(0,—1,0).

Re=P-F = (2,0-1)-(1, 2,3)= (-3 - 2*‘#)
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Questionz). Determine if the two planes are parallel: 2x+y—z = 101 and x+ 2y —z = —101.
A ‘p[ams ave [l i theer nppwmals ave o mult ,a/f, of the other.
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Question 3. Determine if the two planes are perpendicular: 2x —z = 101 and 2y = —101. A
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Question Y Determine 1f the line and the plane are perpendicular: (x,y,z) = (1,2,2) +#(2,—1,2) and —4x+ 2y — 4z = 103.

a lne and a [}/alﬂc are Iotr/%ndwt/éar v the novwmal and
the dwection vechor ove a muét;//c of the other.

|.C. }7\’: (’Lf,a”"‘” d’: [3)"’12) n: —;o’

, The lme and fhﬂ ,o/amc ave
ptvlﬂtndi;cv(ar




_ v
Question § Find the equation of the line passing through the given points: P(8,—3,4) and P,(2,1,2).
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Question 3 Find the equation for the line of intersection of the given planes: —x+2y—z=3 and 2x—y4-3z=4.

Find the line of mberseclion by solving tChe system.
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Question 7. Find the equation of the plane that passes throught the point (2, —3,.4) and is parallel to the plane 2x —y—z—301 =0
Two P lanes ave /ga,mélfé i Ltheer poymal  ore o mwllfrp/{ ot epcl othev.
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Question €. Find an equation for the plane through (3, —4,3) that is perpendicular to the line of intersection of the planes 2x —y+
5z=1and —3x+y-+4z=3. 7=t since z 15 o frecvaviable
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Question q Find the intersection of the line (x,y,z) = (1,2,1) +¢(—2,0, 1) and the plane x —y + 3z = 6. _ ’
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